

FOGLIO 9

①  $A(x) = \begin{pmatrix} x-1 & x^2 & 1 \\ 0 & -2x & 3 \\ 1 & x & 0 \end{pmatrix}$

qual è det in  $\mathbb{R}$ ,  $\mathbb{Z}_2$ ,  $\mathbb{Z}_3$ ,  $\mathbb{Z}_5$ ?

• Det?  $\begin{vmatrix} x-1 & x^2 & 1 \\ 0 & -2x & 3 \\ 1 & x & 0 \end{vmatrix} \xrightarrow{R_2 \rightarrow R_2 + xR_3} \begin{vmatrix} 0 & x & 1 \\ 0 & -2x & 3 \\ 1 & x & 0 \end{vmatrix} \xrightarrow{R_2 \rightarrow R_2 + R_1} \begin{vmatrix} 0 & x & 1 \\ 0 & 0 & 4 \\ 1 & x & 0 \end{vmatrix} \xrightarrow{\text{sviluppo}} \begin{vmatrix} 0 & x & 1 \\ 0 & 0 & 4 \\ 1 & x & 0 \end{vmatrix}$

$- \begin{vmatrix} x & 1 \\ 0 & 4 \end{vmatrix} = -4x \Rightarrow$  in  $\mathbb{Z}_5 = 0$ , ALTRIMENTI  $\neq 0$ .

• RANGO?

OSSERVIAMO LA MATRICE RIDOTTA DOPO IL PASSAGGIO  $\otimes$  (1).

• in  $\mathbb{Z}_5$ :  $\begin{pmatrix} 0 & x & 1 \\ 0 & 0 & 4 \\ 1 & x & 0 \end{pmatrix} = \begin{pmatrix} 0 & x & 1 \\ 0 & 0 & 4 \\ 1 & x & 0 \end{pmatrix} \Rightarrow \text{rang}(A(x)) = 2 \forall x \in \mathbb{Z}_5$

• in  $\mathbb{R}, \mathbb{Z}_2, \mathbb{Z}_3$ :  $\text{rang} \begin{pmatrix} 0 & x & 1 \\ 0 & 0 & 4 \\ 1 & x & 0 \end{pmatrix} = \begin{cases} 3 & x \neq 0 \\ 2 & x = 0 \end{cases}$

$B(x) = \begin{pmatrix} 3-x & 1 & -1 \\ 2 & x-1 & 0 \\ 0 & -1 & x \end{pmatrix}$

• Det?

$\begin{vmatrix} 3-x & 1 & -1 \\ 2 & x-1 & 0 \\ 0 & -1 & x \end{vmatrix} \xrightarrow{R_2 \rightarrow R_2 + R_3} \begin{vmatrix} 3-x & 1 & -1 \\ 2 & x-1 & 0 \\ 3x-x^2 & x-1 & 0 \end{vmatrix} \xrightarrow{R_2 \rightarrow R_2 - R_1} \begin{vmatrix} 3-x & 1 & -1 \\ 2 & x-1 & 0 \\ 3x-x^2 & 0 & 1 \end{vmatrix}$

$= - \begin{vmatrix} 2 & x-1 \\ -1 & x \end{vmatrix} = -(x-1)^2(x-2)$

$\Rightarrow \det B(x) = 0 \Leftrightarrow (x-1) = 0 \vee (x-2) = 0$

$\rightarrow$  in  $\mathbb{R}, \mathbb{Z}_3, \mathbb{Z}_5$ :  $\det B(x) = 0 \Leftrightarrow x=1, x=2$ .

in  $\mathbb{Z}_2$ :  $\det B(x) = 0 \Leftrightarrow x=1, x=0 \rightarrow \forall x$

RANGO?

Sappiamo che per  $x \neq 1, x \neq 2$   $\det(B(x)) \neq 0 \rightarrow \text{rang} = 3$ .

DAL PASSAGGIO  $\otimes$ , PER TUTTI I CAMPI, RANGO  $\mathbb{Z}_2$ :

$\begin{pmatrix} 3-x & 1 & -1 \\ 2 & x-1 & 0 \\ -(x-1)(x-2) & 0 & 0 \end{pmatrix} \xrightarrow{\text{norma over } \mathbb{Z}_2 \text{ e } \mathbb{Z}_3 \text{ e } \mathbb{Z}_5} \text{rang} = 2 \forall x \rightarrow \begin{cases} \text{rang} = 2 \text{ se } x \neq 1, x \neq 2 \\ \text{rang} = 3 \text{ se } x=1, 2 \end{cases}$

in  $\mathbb{Z}_2$

$\begin{pmatrix} 3-x & 1 & -1 \\ 2 & x-1 & 0 \\ -(x-1)(x-2) & 0 & 0 \end{pmatrix} = \begin{pmatrix} 1+x & 1 & 1 \\ 0 & 1+x & 0 \\ x(x+1) & 0 & 0 \end{pmatrix} = \begin{pmatrix} 1+x & 1 & 1 \\ 0 & 1+x & 0 \\ 0 & 0 & 0 \end{pmatrix}$

$\Rightarrow \text{rang}(B(x)) = \begin{cases} 2 \text{ se } x+1 \neq 0 & (x=0) \\ 1 \text{ se } x+1 = 0 & (x=1) \end{cases} \checkmark$

②

$v_1 = (2 \ 0 \ 1 \ 0), v_2 = (0 \ 3 \ 1 \ 1)$

$\rightarrow \{v_1, v_2, \begin{pmatrix} 0 \\ 0 \\ 1 \\ 0 \end{pmatrix}, \begin{pmatrix} 0 \\ 0 \\ 0 \\ 1 \end{pmatrix}\}$  base di  $\mathbb{R}^4$ .

$\begin{vmatrix} 2 & 0 & 0 & 0 \\ 0 & 3 & 0 & 0 \\ 1 & 1 & 1 & 0 \\ 0 & 1 & 0 & 1 \end{vmatrix} = 2 \begin{vmatrix} 3 & 0 & 0 \\ 1 & 1 & 0 \\ 0 & 1 & 1 \end{vmatrix} = 2 \cdot 3 \cdot \begin{vmatrix} 1 & 0 \\ 0 & 1 \end{vmatrix} = 2 \cdot 3 \cdot 1 = 6$

$\rightarrow$  consideriamo  $\{v_1, v_2, \begin{pmatrix} 0 \\ 0 \\ 1 \\ 0 \end{pmatrix}, \begin{pmatrix} 0 \\ 0 \\ 0 \\ 1 \end{pmatrix}\}$  base di  $\mathbb{R}^4$ .

$\rightarrow \begin{vmatrix} 2 & 0 & 0 & 0 \\ 0 & 3 & 0 & 0 \\ 1 & 1 & 1 & 0 \\ 0 & 1 & 0 & 1 \end{vmatrix} = 2 \begin{vmatrix} 3 & 0 & 0 \\ 1 & 1 & 0 \\ 0 & 1 & 1 \end{vmatrix} = 2 \cdot 3 \cdot \begin{vmatrix} 1 & 0 \\ 0 & 1 \end{vmatrix} = 6 \cdot \frac{1}{6} = 1 \checkmark$

③ RIPRENDIAMO  $A(x) = \begin{pmatrix} x-1 & x^2 & 1 \\ 0 & -2x & 3 \\ 1 & x & 0 \end{pmatrix}, B(x) = \begin{pmatrix} 3-x & 1 & -1 \\ 2 & x-1 & 0 \\ 0 & -1 & x \end{pmatrix}$

$K_{\mathbb{R}} L_{A(x)}$

Sappiamo  $\text{rang}(A(x)) = 3 \forall x \neq 0$

$\rightarrow$  per  $x \neq 0, K_{\mathbb{R}} L_{A(x)} = \{0\}$ .

$x=0$

$A(0) = \begin{pmatrix} -1 & 0 & 1 \\ 0 & 0 & 3 \\ 1 & 0 & 0 \end{pmatrix} \Rightarrow A(0) \cdot \begin{pmatrix} y_1 \\ y_2 \\ y_3 \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix} \Leftrightarrow \begin{cases} -y_1 + y_3 = 0 \\ 3y_3 = 0 \\ y_1 = 0 \end{cases}$

$\Rightarrow K_{\mathbb{R}} L_{A(0)} = \{(0, y_2, 0) \in \mathbb{R}^3 \mid y_2 \in \mathbb{R}\} = \langle (0, 1, 0) \rangle \checkmark$

$K_{\mathbb{R}} L_{B(x)}$

Sappiamo  $\text{rang}(B(x)) = 3 \forall x \neq 1, 2 \rightarrow \forall x \neq 1, 2, K_{\mathbb{R}} L_{B(x)} = \{0\}$ .

$x=1$

$B(1) = \begin{pmatrix} 2 & 1 & -1 \\ 2 & 0 & 0 \\ 0 & -1 & 1 \end{pmatrix} \rightarrow \begin{cases} 2y_1 + y_2 - y_3 = 0 \\ 2y_1 = 0 \\ -y_2 + y_3 = 0 \end{cases} \rightarrow \begin{cases} y_1 = 0 \\ y_2 = y_3 \end{cases}$

$\Rightarrow K_{\mathbb{R}} L_{B(1)} = \{(0, y_2, y_2) \mid y_2 \in \mathbb{R}\} = \langle (0, 1, 1) \rangle \checkmark$